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RENAULT Scenic: 1EPJ946

Winnumber: WF11Z140648435543 Varsionname: JCEMNIC Emerg.Expression
First Registrationdate: 14/02/2013 . 110PK
3 5 Fiscalpower:
Expertise Mileage: Q8096
Power K 81
Badytype:
Body color Light Grey
Gearbox: MAN 6 VIT -
= Paint typa Metalic
Transmission: £
Rims summer Steel
Fueltype: Diesel :
e ail lavel oK
Battery functioning Yes :
Parking lot 3503
Mumber of doors 5
Mumber of s=ats 5
Mumber head rests 5
Rims summer Steel
Category Passenger Car
Til lavel oK
Options
Radic CD Luggage cover
Windows electric F
Windows elactric R
Cruise Contral
Steering wheel multifunctional
Radio multimadia
Type of headlighting  Headlighting Halogen
Type of GPS GPS big screen color
Type of Lining Lining fabrics
Type of climate Manual climate
control cantrol
Limited Technical Inspection
Powveer steering Yes Battery functioning Yes
Airco functioning oK Sound engine oK
Tires wear profile oK Clutch test oK
Idle position OK Wiper fluid lavel OK
Engine startingtime oK Lighting oK
Exhaust gass OK Wiperblades OK
Transmission 0K
Handbrake oK
Degree of wear
205/60/16/92 H Steel
Winter tyres: Fr.L. Uniroyal: 5 mm Fr.R. Uniroyal: 5 mm
Re.L. Uniroyal: 5 mm Re.R. Uniroyal: 53 mm
Assistance equipment
Spare wheel Yes
Total cost ex VAT 1878,64
Rearview mirror housing R, Damaged, LI - Repair and paint (complete) 115,56
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Interior, Dirty, Cleaning

-
Tailgate, Scratch{es), Acceptable
Ne pictures ta display
Wheel cover F R, Scratch{es), E - Replace
- ==

Bumper R, Bump{g), Smart repair

= i1
Door R R, Bump(s) and scraich({es), LI - Repair and paint (complete)

Door F R, Bump(s), LI - Repair and paint (complete)

Wing R R, Bump(s) and scratchies), LI - Repair and paint (complete)

Front bumper, Scratch{es), LI - Repair and paint {complete)
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